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The Comparison Tests  

 

 

Ex1: Determine the convergence of the following.  
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Visualize the power and limitations of the comparison test as follows: 

 

 

 

 

 

 

 

 

Ex2: Determine the convergence of the following. 
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THE LIST: (1.) The geometric series converges when 1r < .  (2.) The harmonic series diverges.  (3.) 

Telescoping series.  (4.) The integral test.  (5.) The test for divergence. (6.) The p-series converges for 

1p > . (7.) The comparison test (weak). 
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To be able to answer the last problem we use the following variation of the Direct Comparison test. 

 

A couple of special cases: 

• If lim 0n
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Back to Ex2: 
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Back to Ex1b: 
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THE LIST: (1.) The geometric series converges when 1r < .  (2.) The harmonic series diverges.  (3.) 

Telescoping series.  (4.) The integral test.  (5.) The test for divergence. (6.) The p-series converges for 

1p > . (7.) The comparison test (weak).  (8.) The limit comparison test (stronger) 


